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From when is a 171202 released — NURAWM 72N YNNI

OVERVIEW

The laws of 2503 nu»w do not apply to a i2n2." However, if the woman made a
partial collection (7n39) and placed the remainder as a loan (75pT) owed to her by
her husband or his heirs, then 7w nw is nunwn.> According to X it is nuawn if
either 77230 or 719p7. Our Moo applies this to resolve another ruling.

nvoIn asks:
— 43‘\’9’:\05 "7 129199 *H2)1N3 NN (x,m mans) 29 DY GN P99 Y92 9INT NN

Regarding that which °X1> "7 91X 12°X "1 stated in the beginning of 2" ¥X P95, that

a 112102 °8in is like a 712100 for (many things including) neyeaw -
—*NVNYN NN NDDIN PRT YN SN PN 195299 NP

The 5''9 has a difficulty with this statement, why is it necessary to teach us that

the 772105 NI1OIN is not nuRW? -
- 61"1 2 AYYNI NI 21T NAINII NAINI ININT DIVN

Because a 712100 5X1n is like a 12103, so it is like a 7''s2 7w, this is not necessary -
—Smann napMm 7‘1’9\0 99YUN NINT 2191 NADIM NAINI VNIVYN KYT MY PIDN

We can derive that 1712102 and 772102 N9 is not w»w» because they are similar

to the wages of an employee and credit in a store’ -
— 199 NON VYN RDT 0x nywn » prg) NHOYAY NIDNI 9INT JNID NIINYT

For there is one who maintains in n>y>aw noo» that only a 92 is waw -
- 'naoym nans 19w v

" As long as the woman does not make any attempt to collect her 12103, even though 7" occurred many times, the

debt of the 7712103 is still due to her.

% numwn ,unwn means released. The debtor is released from his obligation to pay the creditor. In our case the creditor

is the woman and the debtor is either the husband (if she is a divorcee) or the heirs (if she is a widow).

? 72303 *Xin (the conditions of the 721n3) refer to any additional obligation placed on (or accepted by) the husband in

addition to the basic 72103 obligation of (771027) 2> nRn (7327K?) 73 such as M or 72105 MDOIN.

* Py aw in not vrwn (even) the 72105 *Xin (and certainly not the 7121n3).

> See *"w s there n°y>aw 71"7, who interprets N°y°2w) to mean that there NbAw? A1K 72103 *KiN..

6 33 nwyn (an act of 7"2, similar to a court order) is not subject to the laws of n>¥aw. See 2"» "5 Nw>aw that 93

TURwn PR T2 awyn and 2"van 92 that onT 1230 2177 SV 7"32 posw row. That is why a 72105 is not nuawn. It

appears from the statement of "9 7nR X" that the reason 72103 °Xin is not YAWn is (only) because it is 72125 (which

is not NYAWN because it is a 7"°2 AWYN).

7 The employee can collect the wages owed to him even after n°yaw.

¥ The storekeeper can collect the credit (extended and) owed to him even after ny»aw.

’ In these two incidents there was no loan per se; the employee did not loan the employer his work, and the

storekeeper did not loan the shopper his goods. 710°n2 applies only to a loan (according to this view).

1029315 and ;712303 MPOIN are more removed from a loan than N nopm oW 70w, for in those cases the creditor (the
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And certainly not 77202 and 72115 nwLEN —

mooIN rejects a possible solution to the question:
— "onunt 98 0NN 1T S0 5295 NINNT MY rdalad)

And it is awkward to assume that the ruling regarding 712102 °Xin is according to
»""2 who argues there and maintains that (things other than m>n) are wawn.'?

moon answers (and disagrees with *"wA there):
— 249 NN NP NNIOY 19N MYAYD MMNPT XAT PNYY 139299 AN

And it is the view of the "' that when the X723 said there nvyaw® that means in
a case of 5P MAp according to 2 -

109011 2193 NVNPWYRT INNYY Propt i nnae N
Or a case of either 7239 or 115p1 according to »Ryaw; in those instances the npoIn
is also nunwn,

SUMMARY
772102 °XiN is not YHWH because it is not a loan. If she is 7?17/ax1d the 772105 then even
the 772102 °RIN 1s LAYA.

THINKING IT OVER
1. What would be if 79211 777235 the 7712102 °Xin, would the 72102 be nvnwn?

2. According to ?Xmw (who maintains that 75p7 alone is vnwn), if she was 7991 only
part of the 71213 (not the entire 721N3), seemingly N°y°2w would be vawn only the
part that was 19p7 (not the rest), therefore (even) if she was 19p7 the entire 72102,
why should it affect the 72105 *xin?"

70w and °11117) gave something to the debtor; however by a 72102 (or 712112 MvOIN) the creditor (the woman) did not
give anything to the debtor (the husband or heirs), so if we maintain that there is no n°¥"aw by 7°>w 75w and nopH
nin (for the reason mentioned in footnote # 9), then there certainly is no YW by 72102 NBOIN 721ND.
"It is a pm7 to assume that *"X X"1 would say a ruling like a ("0 1) 7, where a 2°21 disagree with him.
2 According to *"7 who maintains that 9°5w 19w is vnwn» (in certain instances) it would be possible to say that *Xin
722 is also AWy (where it not *»7 72132 and a 7"°2 TWYN).
" See “Thinking it over # 2.
' mooin explains that X773 to mean (the opposite) that if she was 0319 and/or 7?7 the 72102 then N°¥ 2w is NvVAWA (not
only the 72102, but even) the N1®OIN (or "Rin) 721N3.
1 See n"na.
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